
PS 2 Due 2/2/2017 

An Exploration: Calculator Active 

 

a. An ordinary soda can has a volume of 355 cm3. Find the dimensions (radius and 
height) that minimize the surface area of such a can. 

b. Do cans have this shape? If not, why is that? Any Guesses? 
c. It is reasonable to estimate that the top of such a can is 3 times as thick as its sides. 

What sort of influence would that have on the design of a can? 
d. For simplicity, pretend that the top is made of 3 layers of aluminum. Now minimize 

the surface area to find the optimal dimensions of a soda can. 
e. Compare your answer in “d” to the actual dimensions of a real soda can. 
f. Summarize your findings. 
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